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5.  One of the principles of development is that happiness varies at different periods in

the development pattern. According to this principle
(A} the first year of life 1s usually the happiest period

(B) the puberty is the Happiest period of life and the first year is also the happiest
period of life |

(C) the puberty is the most unhappy period of life

(D} the first year of life is the happiést and the puberty is the most unhappy period

T of life.
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6.  Which of the folloWing contributes most in the léarning and development of children ?
(A) Family, Peer group and Television (B) Family, .Peer group and Teacher
{C)  Family, Play and Coniputer (D) Family, Play and Tourism. |
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" 7. To which of the following statements should a teacher agree ?

~{A)  Intrinsic motivation occurs when learners do something to experience external

satisfying results.

1

(B) Exirinsic motivation occurs when learners do something to earn external

rewards.
{C) External rewards lead to permanent behaviour change.

(D) External rewards lead to.intrinsic motivation.
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8. A teacher gives a blank outline map that shows the location of rivers, mountains, .

valley. and plains etc. He asks students to figure out where the major CltlES railways -~ ¢ §
I : and highways connecting the major cities might be located. Stuaents are not permitted .

to consult books or other maps. Here the teacher’s approach is
(A) Discovery approach : (B Concept map
| (C) Problem solving approach (D}  Enquiry approach.

@awwmﬁaﬁmmﬁéﬁa?ﬁﬁ T, trer T itz = yeita F@ | 96
faenfedai =01 gea TR, iﬂéag@maﬁ@@aﬁwﬁaﬁﬁ%ﬁmﬁaﬁm% \ ferenfefa
) 39 T AALE R I B HY TW A T R € | FET EATF F g TIH

@ @I _(B))  wrfE frEm
(C) WA FHTIF T Vyﬁ) AV ST |

9.  Which of the following is not an example of Bandura 5 observationa] leaming ?
(A) Students learning of dissection of earthworm
(B) Enthusiasm about cricket

(©) Disdain for the study of social study

(D) Packing the school bag on ringing of school bell. o _ ' .
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10. Rajesh misses a month of school because of his illness. When he returns to school, he
does not know how Lo do his long division .assignments. After a number of. frustrating
experiences in which he fails long division problems, he feels anxious whenever he
encounters a division task. As per the classlca] conditlonmg theory emotional

uncondltmned slimulus [ ucs ] is

(A} Amaety about failure _ | - (B) Faﬂure / F‘rustratiqri
(© Long division problem (D) Anxiéty about long division problems.
T U} & R0 T RE o foremerd w6 T | v faemes e @ 3R M ¥ e o |
S e WWM|ﬁw%ﬁwmﬁwﬁwmmuwﬁ|ﬁﬁw%m%é@ﬁﬁ
‘ %ﬁ%ﬂﬁwﬁlvmﬁﬂw—mﬁq@m%wmwmﬁmﬁw% =
« Ay aﬂmﬁ_ﬁaﬂﬁm ' -I\/rB).'an—c’m/mﬂwn @
Q) = M waEe (D) am‘tnm%wvﬁ famm 1T
1 1.. Whit:h type of learning. mainly inﬂﬁences persbna]ity of the child ?
(A) . Trial and Error learning o (B) Emtation learning
3 (C) Insightful Iearrﬁng u (D) Ir;;tn,lctlona] learning,
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| 12.  Which of the fol}omng statements about individual differenccs is true ?

(A} If the intelligence level of the students is same, still the level of achievement will
be different. | '

s (B)  All the children do not have some similarities. ’
! " (@ The curve showing individual differences is tilted tb one direction or pole.
(D}  Individual differences are due-to heredity. | |
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13. The following is an example of

;
. I‘-x
: - \ * ‘
Stone Statue
Rock-cut \ : s .
Tombs
_hinx Large Burial
@& Diagram & B Model
(C) Concept map . (D) Graph.
= fa7 Iz § |
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14. Which of the following is not a projective technique ?

(A)  Play technique o (B) Word association test

(C) Picture association test (D) Case .stucly.
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15. Which of the following do not help in understanding the ethnic individual differences ?
(A)  Value system | |
(B) Verbal and non-verbal conuhu'mcaUOH
(C) Different learning arrahgementsl_ & processes
[D’} Intelligence.
mmﬁmﬁﬁmﬁﬁﬁmﬁﬁwwmﬁaﬁm ?
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16. Personality is the dynamic organisation mthin the incllvidu\alf 6f those psycho- physical '
systems that determine his unique adjustment to his environment. This definition of
per’sonality is given by |
(AJ Murray . | (B) J. B. Watson
() | G. W. Allport : ' {D] Skinner.
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17. The 1ntelligencé of children is generally testéd by |

(A)  Non-verbal group intelligenqe tests .[B) | Verbal group intelligence tests
(] Non-verbal individual intelligence tests (D} Vérbal_ individual intelligence tests.
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18. Which of the foIlowing indicates the misuse of intelligence tests ?

{a)
(B)
Q)

(D)
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19.  Which of the following is not a characteristic of backward children ? o

A
(B)

(€

(D)

10 | [ W

Use in assessment for promotion
1.Q. labels tagged to children are used by teachers as an excuse for inefficiency
Use in classifying children

Use for improving learning process.

FAfG & ford urae o weraew
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The educational attainment falls below the level of their natural abilities.

They are unable to keep pace with the normal school work.

Fall far behind other children of his age.

Possess low intelligence. : ) " . - '?
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20. Which of the following is.a direct method of adjustment ? .

(A} Projection o (Bl  Repression - |

(C) Regression : (D) Substi_tufddn bf Goals.
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21. Separate classes and enrichment progfarmnes can be used for the education of
(A) gifted children (B} low achiever children
(C) gifted and low- achiever children (D)  none of these.
qwmmﬁwmﬁqﬁmwﬂnﬁm%ﬁ@ﬁmw%
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22. Match the following and select the correct answer in the table :
.List-A ' » List - B
L} FantaS'y can be classified as a defence machanism 1. Denial
M) | Defence meéhanismlpl-'otects individual form 2. Escape
Sublimation can be classified as a defence mechanism 3. Substituti.on_
0O) Compensation can be classified as a defence 4. . Anxie_ty '
mechanism | ' '
Codes :
L M N o
(A) 1 4 L 3
B) 3 1 4 & |
(C) 2 4 3 3
oy 3 2 3 1.
ﬁwmmm@ﬁﬁmﬁﬁwﬁwwwﬁ
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{ 2 4 3 3
D) 3 2 3 1
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23.  Students with academic difficulties face difficulty of

(A)
(B)
(&)
(D}

malfunction of the-ear or associated nerves
abnormalitlies in spoken language
reduced mental alertness

deficit in practical and social intelligence.
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24. Which of the following is a prdcessing deficiency in students with learning
disabilities ? |

(A}
(B)
(€)
(D}

Remembering information invelving numbers, poor Se_nse of time and direction
Frequent hyperactive behaviour
Little muscle control

Reduqed mental alertness.
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25. 'The purpose of formative evaluation is to

()  monttor progress and plan rémedlé.l. 1nst}ucﬁon

(B) know the understanding of students

(C)  know that teacher’s objectives are fulfilled

(D) assign grades. | '

i qeaidd #1 38vg & ' ;
"I TG TR A O SRR SRYA Y A o

B forerfidl #t wwe =1 9@

(C)  reATsh & SE¥E w1 qfd I va T

(D) TTW W&H HA |

T =

b




[ W] 13 | , - ST-2
- 26. Which of the following steps of research makes research an action research ?
A Formulation of hypotheses
(B) Action programme and final evaluation
(C) Generalization |
(D) Rigid research des1gn
= ¥ | - msﬁumwsﬁuaﬁmm%m% ?
. Suweel w1 |
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27. Which of the.following problems is not suitable for action research ?
(A) Improving handwriting of 5th class students in Hindl

(B) Study of the effect of using written praise on 7th Grade students’ behaviour as
compared to verbal praise

Q) .Efficacy of compute_r aided instruction over'uﬁ'a(:ﬁtional method.
(D) | Use of Atlas and Globe in the learning of Geography. :
e # ¥ Bt e frer SgeEE & o Svgw e 2
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28. Which of the following is not addressé_d__in the Right of Children To Free And
- Compulsory Education Act. 2009 ? |

(A} Providing training facility for teachers

{B) Ensuring admission to children of migrants

(C) Deciding the academic calendar

(D) Education a.ftei‘ fourteeﬁ years. : _
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30.
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In the National Curri{,ulum Framework., 2005, the acti\ntles suggested celebration of
cultural and religious diversity of India, programmes to promote an attitude of respect
and responsibilily towards women and compile documentaries and feature films and

screen them that promote the values of justice and peace are for

(A) Education for Peace - (B) Education for Values
(C}  Education for Citizenship (D) None of these.

T TeygE 'R, 2005ﬁwﬁmﬁzﬁ@ﬁh§ﬁrﬁﬁﬁwaﬁﬁm,ﬁaﬁ%uﬁrw '-
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Match the following and select the right answer from the table given below :
List =A : : List - B
L) Organising the experlence of the seed germinatlon 1. observing
process
M} Arole play 2. questioning
N)  Dialogue on gender- dlfferentlated practice in the 3. participating
famiily : :
O}  Processing and packaging different kinds of 4. reflecting
products in dairy farm
Codes . '
L M N O
@A 1 3 4 i
B 2 3 2 1
< 3 1 -3 3
(D) 4 2 2 2.
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SECTION - II

LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

Al questions are compulsory.

Prose Passage I ( Q. Nos. 31 to 37)

Global warming is defined as the increase of the average temperature on earth. This
increase in the earth’s temperature is the cause of natural disasters which are
becomning increasingly frequent all over the world. Carbon dioxide, ‘produced by the
use of chemicals and the burning of fuels, is the main cause of globgl warming. High
levels of carbon dioxide trap heat in the atmosphere. This can have serious

-consequences for the climate of a region.
Global warming can cause many natural disasters. Prolonged and widespread
droughts, heavy floods, Very severe storms and melting of glaciers are just some of
them. There will be more hurricances and cyclones in many parts of the world. It
seems that the world is (otally unprepared to meet the crisis. Countries should get
together to find ways to check global warming. Vehicles, buildings. appliances, etc.
must display high standards of energy efficiency.
31. The word ‘totally’ is similar in meaning to
(A} clearly : (B} always
(C)  completely : , D) truly.
'32. The opposite of ‘frequent’ is .
(A}  infrequent ; (B} unfrequent
. (C}) disfrequent ' (D) antifrequent.
- 33. Which of the following words 1s correctly spelt ?
(A)  Oppertunity o B Oportunity
(C) Oppartunity (D}  Opportunity.
34. Pick out the correct noun formed from the adjective ‘high’ :
(A)  length (B) tall
(C)  height : : (D}  hieght.
35. The phrase 'to make something last longer’ can be replaced with
(A)  provide (B) prolong
(@) longing _ : (D) belong..
36. Which one of the following is opposite in meaning to the word ‘global’ ?
(A) universal (B) local
(© Trban . - D) rural.
37. Pick out the correct verb formed from the adjective ‘natural’ :
{A) nature _ ' (B) naturalization
{©) naturalize | (D) naturize.

|"|l|"|ﬂ|¥"l“”" . | | Y p.10.
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Prose Passage II ( Q. Nos. 38 to 43 }

Health is usually defined as a state of complete physical, mental and social well-being
and does not consist in the mere absence of diseases and injuries. On the other hand,
wealth is defined as abundance of valuable possessions. Health is wealth simply
because a healthy life is life in all its abundance, joy and fulness. Without health, life
would be full of anxiety and fear about diseases and injuries, With health on our side,
life automatically seems to be full of happiness and laughter.

The best thing is to concentrate on being healthy and to avoid unhealthy activities, If
you strive for health, there will be others who will follow you, will be inspired by you
to have that mutual objective which is a healthy life. In this way. you can have many
more acquaintances and friends, and with more friends, obviously your life would be
happier and healthier. Anything that promotes health will almost alway$ start and end

with joy.
38. The word ‘absence’ is r
(A) a noun {B) a verb |
- {C) an adjective (D) an adverb. {
39. The word ‘always’ is |
(A) a conjunction - {B) an adverb
() anoun | (D)  an adjective. - .

40. In the second sentence of the first paragraph, the verb phrase ‘is defined’ is in
' (A) Simple Past Tense 1 (B) Simple Present Tense "
(C)  Past C'ontinuous Tense (D} Present Continuous Tense.
41. In'the third sentence of the last paragraph ( In this way, ... ), the verb phrase is in

(A) Present Perfect Tense (B) Simple Past Tense
{C}) Present Continuous Tense (D) Simple Present Tense.
42. Which one of the following can have the determiner ‘an’ ? :
(A) healthy aiétivity (B) o strong hand ;
(C) activity (D)  injuries. ' .
43. The adjective ‘full’ in its superlative degree is ' .-
_ (A most full : - (B) fuller 5 .
(€ fullest | D) fullerest.

44. The passive voice form of the sentence “Global warmmg can cause many natural
disasters” will be

{A} Memy natural disasters are caused by global warming

(B) Many natural disasters can be caused by global warming ]
(C) Many natural dlsastcrs can caused by global warming - "
(D) Many natural disasters could caused by global warming.
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45. Pick out the sentence with the correct passive voicé form :
(A} Al the chairs have been repaired
(B) All the chairs are been repaired
{C}  All the chairs have being rapaired
(D). All the chairs weré been repaired.
46. Which of the following sentences has the correct structure of a question ?
(A) Where avérage lemperature is increasing ?
(B) Where be average temperature increasing ?
(C) Where is average temperature increasing ?
(D)  Where does average temperature increasing ? ' k

47. Pick out the question to which the sentence “Wealth is defined as abundance of
valuable possessions” will be an appropriate answer

(A)  Why is wealth defined ?

{(B) Who defines wealih as abundance of possessions ?
(C} When can we define wealth ?

(D} How is wealth defined ? .

48, Which of the following pairs of words has the same-vowel sound ?

{A})  book, shoes - (B) head, red _
©  sign, sin (D) throw. three.
49. Which one of the following pairs begins with the same consonant sound ?
() cat, city B game. gym
(C}) know, name | | ' 18]} Baxjty. photo.

50. The correct transcription of the word ‘news’ is

(A) /nju:z/ B (B) /ﬁIu:s/

(C) /nju:s/ . /nou:s /.
51. The role of English in India is that of '
(A)  the first language | _ B the mother tongue
| (C) a foreign language ' D) a second language.
52. Pick omt the pair which falls under the category of expressive or preductive language
skills : : '
{A}  listening, speaking . (B) reading, writing
(C) listening, writing (D)  speaking, writing.
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In the Bilingual method
(A) students are given complete freedom to use the mother tongue

(B) . the mother tongue is used by the teacher to explain the meanings of new words,
phrases, etc. '

(C) the teacher teaches the entire lesson in the students’ mother longue

(D) the teacher encourages students to use the mother tongue all the time.

In the Situational Approach a teacher tries to.

{al follow a syllabus with a list of situations

(B)  adjust teaching to the situation in the classroom

(C) createa life-like situation in the classroom for teaching a language‘ item

(D) show how the situation in the classroom is different from real-life situations.

Which of the following pairs is usually described as receptive skills ?

(A) Listening, speaking = (B)  Reading, writing

{C} Listening, reading (D)  Speaking, writing.
The use of teaching-learning materials makes the activity of learning
(A) unneécessarily difficult (B}  dull and challenging
(C) | unnecessarily slow (D}  easy '_and_ interesting.

Language learning is like learning
(A) a skill like cycling ! (B]  a subject like physics
(C) a collection of facts as in history (D) abstract concepts as in philosophy.

. Evaluation in education is

(A)  continuous, but not cumulative (B) cumulative, bﬁt not cohtinuous
(C) neither continuous nor cumulative (D} both continuous and cumulative.
One of the requirements of a good language proficiency test is that it must be

(A) complex (B) reliable

(C) ambiguous (D)  enjoyable.

An attainment test aims to measure |

il

(A llgw much a learner has learnt of what he has been taught
(B) how much a learner needs to learn to pass an examination
(C) the speaking ability of a learner

(D) the teaching ability of a teacher.
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' ' SECTION - '
LANGUAGE H
ENGLISH

There are 30 questions in all in this Sectioh. .

. All questions are compulsory.

Prose ( Q. Nos. 61 to 65 )

Many thousands of years ago all men did all types of work. Each man built his own
house and made what furniture he needed and grew all hlS own food. His wife made
all the clothes for the family and cooked food,

However, men very soon found that it was much better to divide the work among

them, so that one built houses, another made furniture, and another grew corn, and

so on. You can easily see that this was a better plan, because by always doing the

same kind of work, you can do it far more quickly and easily. So nowadays all work is

divided as much as possible. Even such a tiny thing as a pin is not made by one man,

but by a dozen or more, each doing his particular bit of the work, ‘One straightens out
- the wire, another cuts it into lengths, another sharpens the point, another puts the
head on, and so forth. That is to say, work is divided among clifferent people.

61 In the third sentence of the second paragraph “So nowadays all work " the word ‘so’

indicates :
\ﬁ effect ( of a cause ) : B) cause [ of an effect )
v similarity : ' (D) comparison. |
62. The word ‘However’ at the beginning of the second paragraph indicates
c\yﬁﬂ/ a supporting idea . ' (B) ' an old idea
‘ (©) an idea in the same direction \,(»Bf an idea in the opposite direction
63. Complete the following sentence with the correct verb form
All WOrK ...oviiiiiininnns by all men
\/ﬁ was done | o ._ : (B) were done
o~ A€) has done. o (D) are done.
64. Which one of the following would be an appropriate title for the above passage ?
() All Types of Work .. B Types of People
fo) Division of Labour o ' o) Life in the Past.

65. The author of the above passage is of the opinion that the way people worked
thousands of years ago was

(A}  better than the present \JBr— most proper
(C) most efficient - D) not efficient.

L 0L . | | 02| [ P.T.O.
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Poem ( Q. Nos. 66 to 70)

The squirrel gloats o'er his accomplished hoard,

W)

The ants have brimmed their garners with ripe grain,

And honey-bees have stored _
The sweets of summer in their luscious cells ;

The swallows all have winged across the main ;

But here the Autumn melancholy dwells,
' And sighs her tearful spells
Amongst the sunless shadows of the plain.
Alone, alone, |
Upon a mossy stone :
She sits and reckons up the dead and gone,
With the last leaves for a love-rosary ; o
Whilst all the withered world looks drearily,
Like a dim picture of the drewned past
In the hushed mind's mysterious far-away,
Doubtful what ghostly thing will steal the last
Into that distance, grey upon the grey.
66. Who has been persenified in the above poem ?
. The squirrel = . N B
\}ef Honey-bees (D)
67. In the above poem line 2 rhymes with lines
) land3 | | (B)
© Sand7 L ND)

0 simile ' : (B)

« (C) alliteration _ (D)
69.  Which of the following lines contain a simile 2
(A)  lines 14 and 15 B
Q lines 3 and 4 R ' )
70. The rhyme scheme of the last four lnes of the poem (line 14 to 17 Hs
M -abab o (B)
€ abeb | | (D)

71. The modal may’ can express the meamng of

A advice _ ‘ (B)

(C)  possibility n D)

The autumn season
The summer season.

—4.and 6 | @
5 and 8. ~

68. . “Their garners with ripe grain” ( line 2 ) contains an example of

metaphor

personification.

iines 11 and 12
lines 1 and 2.

abcd

abbb.

_ability

prohibitjdn .
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72. You must not park your cycles here. Here ‘must not’ expresses '
. {A)  permission : 1 ‘ohibition @
(C}  inability o - - (D) probability.
73. Most students got through the examination. |
Here ‘gol through’ means- -
(A) took : ’ o {B) passed

o \jﬁl' ~ understood . o (D)  arrived for. 2
74. A Shakespearean sonnet usually contains I @
: 12 seven couplets : B} - four stanzas '
1 {C) three couplets and two stanzas \J‘D’ three stanzas and a couplet
B 75  An elegy usually gives expressmn toa : A
(A)  feeling of joy L sense of loss
€} feeling of victory : (D)  sense of defeat.

:5 76. The number of pure vowel sounds and diphthopgs in English is
| (A) - 8 pure vowels and 12 diphthongs & B) = 14 pure vowels and 6 diphthongs
12 pure vowels and 8 diphthongs = (D) 10 pure vowels and 10 diphthongs.

77. The first sound in the word ‘yes’ is transcribed as
Wy / - B e/ /@
Cy. fa/ - _ ~AD) / N
78. Which is the correct transcription of the last sound in the word ‘blue’ ?
Y Juey 111 ) e @
© / Bey g 401 112 s
79. Pick out the correct transcription of the word ‘take’ : :
A Jtek/ BT/ telk / @
©  /tak / o D)/ teek /.
80. Which of the following is the correct transcription of the word know ?
W /nev/ B/ pav/ Y
© / noy : D) / kne T /. N2

81. English in India today needs to be taught as
() - alibrary language o+
(B}  alanguage for higher studies
\ij a language for communication |
(D) adanguage to be used while travelling abroad.

82. Enghsh ldnguagc teaching needs to be S _ %
: . y . : fry
(A)  ‘teacher-centred : \/(ﬁ}_ learper-centred o {

(C) lecture-centred _ (D) textbook-centred. AN

(1T TTT T — Em - e
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83. Communicative Language Teaching stresses the interdependence of
(A), language and psychology - {B) language and behaviour

N/f{] language and communication D) language and conversation.
84. The most important element in Communicative Language Teaching is
M the structure of language | (B)  the reading skill
(C)  memorization of grammar (D) . meaning.

85. A language learner makes errors because _
~ M) the learner has acquired only partial knowledge of the language
(B) the learner has acquired complete knowledge of the language

(C) the learner enjoys making errors
(D) * the teacher has permitted him to make errors.
86. Complete the following statement : '

' Language tests are-designed to measure ........................ at a particular moment in the
teaching programime, ' '

(A)  the learner’s hkmg for the language
(B) the learner’s knowledge of the l_anguage
(C)  the teacher's knowledge of the language
: .\(P_)/ the learner’s attitude towards the language.
87. . One of the purposes of evaluation of learners is
lA]. - assessment of textbooks .
(B) preparing a list of learners’ needs .
\'_12)’ ~ assessment of the ledrners’ attainment
(D) idehtification of language functions.
88.. Multiple Ch()ice Questions
(A)  reduce subjectivity in evaluation
(B} increase subjectivity_in'_evaluatjoh
(C) allow essay-type answers
oDy allow students to choose multiple options
89. A 'Recall- Type test is a test of _
(A} memory {B) unaginétion
(C)  understanding D) speed.
90. The purpose of remedial teaching is to

]

{A) introduce new language items

AB) Test recently taught items
{C} teach again the language items not properly learnt
(D) teach again the language items already learnt.

IRHHTR] o el

i i



| W] | 51 ST-2
@WUe - I
a1

LS EC
375 i v | |

_ F&W:WQW:I.
T TR SRS 61 67 TR G WHINAT - |
a@m:m!aﬁamﬁﬁqmlm:mmﬁaﬂ:wﬁr|Hﬁavﬂﬁaa1§:mfalq;i:
Sefd | AT W WA | SE i gt farafa 1 ¥ W Seas ye: e |
gm: T mafa | agen: s gd Wik | g e gEea Sd vEd @eth |3 dve
ISR | TR | e s wen i e forerd st | e denfo mssfe 1
mewmwwﬁﬁwm|mmwmwmmw
FAf FET U - -FE0 Fard |

61. WO §F Tewla 7 |

@ 7y | B sy

(© 89 (D) Y |
62. 'SR aXsFE % geE: ?

() - srerdE: B) FHuE:

© % ' (D) T
63. W TOA H: WEU: 7

(A ‘.mq?{ o (B) &g

© = - D W
64. THIERITAR®: THERYY gda; famfa |

%@ﬁ'aqéwﬁmﬁm ?

@) e B) =gl

© o a D) e |

65. UM F=atn yenfor |l |
s e fadoned e 2 | |
@ = By o

LT T — [60z] - o [ PT.0.




ST-2
60.

67.

68. FEYMR FHEUE) wald ? |
(A w= (B)
€ #RwE D)
69. Wﬁa@ﬁ ? '
@ TEgE B
O W O
70. TER e o e S forg R 2
Y | B)
© oo D)
71, o’ v wRNRIESR: hg: —
@ o= - | | | B)
© e+ = D)
72. “mﬁmé%::'waﬁ:m:? )
a) ‘dT'El,'Fﬁr | (B)
fC} FHHYRY: D)
(N e [602]

52
"o gd it aafnd geeei wiedad —

@&y A @ AtrEta (B)
(€ e gl Ty (D)
Yoy’ sy stem S o wfe ?

(A} TH: (B)
© & (D)

e Y4 et
HIAT: E A

ELH
Sgg: 9 || 1

FAMfefed mm%rrﬂqmm 68d: 74tni=éu¥#1:wam:— |
T TN FEld, A0 FHR WA WG | T w83 A | TATGYIA WA ST SR
waTeeETf- TR - T a- e genfafy: sfufy; Wregs 1 e e € AT

fomrer sRomfe vafs @ W .l{dq\ T g, gREAl HERATTEEEITE: ATy
SR A AT TS T qEaEtEY wfEEe | e aaft W - wal: wwdn
T GUIEOS FEAGT: WA, TEUH SO HeEy we | 99 At ane: ahefe |

HROEY HIS FHIaE: Evd wEia |

L l

HHNE |

TR 3T
HE-49H |




o
L 73, ‘geAl’ TR % WA ?
U S
) =
74, ‘'weqiy snosgereRli v weeg
areR sty fadreray ey ?
(A) HEOAH o
© &g
75. '’ goien IERORYA faed —
@ 7
_ @ @y
3 76, Tl 9F TR w0
HEFd ST e —
@ o g gt
(© i om gk
77. ¥E TR ¥ T209 |
TS Srerafiads $eq —
(A) " ye <Ea
(€ % T w9 d
78. S<:TYAUA FH: F: ?
W 9.9,1,9
@ 3.3.49.9
79. ‘& TRA Tuwpata |
- areiag deiaE — :
(A} BN R AEERAfd

80. ‘'HHEEEEART T oo,

81. ‘T e Ieed): My 1

Ay frmetafy:
(C) smHAfafy:

T

53

(B)

)

®)
(D)
®
(D)
®)
(D)

(B)
(D}

(B)
(D)

B)

(D)

B
(D)

ST-2

=Y |

TaH |
HUS: | N

foa: g3 geafa
fom 3 peafa 1

T 7 o S
o T U+ TEy |

LA
LI VR

W:Eﬁ:ﬂﬂlﬂw‘q‘ﬁ!
m:gﬁm@—cﬂ‘a_l

geaf |

yRguItafy;

'Fjﬁlﬁl:l

- o [ P.T.O.



sT2 - W]
82, affyrafad: wamn: 31 Fad ?

(&) wenfaem B  wafae

(C) iy (D) TR |
83. o dte Mo WrrRTEITAA Tepatae) e fad: wE: FA: 2

(A} mai%ri‘u: | (B) wamfay:

(G GG EEE | (D) OIgEEEH: |
84. Hepaumafererores sifd wed foamd — '

(A)  HEEOT : (B) AU

C) e | (D) o | '

85 TSR fom ? |
(a) BT wEEr: g st B) fowofeg germs: s T
Q) e-Rasredrn =gg1=n R ST ' D) ITYE Frd g |

86. Farearan: yqEw sewd i e 2 ' |

@) s y B e

(€ wstgoE: (D)  wEwE |
87. DI FACHFETE TUWY W BRI ? '

A L - B e

) FEEg | Dy SO |
88. YT f& FHeer ?

() e o B ek

(C) 9=y | (D) w9 §
89. %: sTydasqA: Wgea Yfdwd wafy ? ' _

(v T : ' B I

© T3 (D) &R i
90. BEMT ¥ord: ool sifvsafs: =

Feye: TiT ?

A TGt wﬁ : B TR g

() AU 5o - (D) HfeeEETaTE T
L (602] -

r!‘_}ll ‘ -



w| 55

1 S
- gl
PTY

.~u*(_513/’._..f!i¢f,u)iyrl/ u*Z.;_J..,LHr 30 u’fw

ST-2

ezl (66 t 61) iyl It it

uLu’fc_.(Lv CUre S KL ot L L o Foc anvzisns”
£_.(Lc.zt"ﬂ..’/l./bfbfK@JPIULJJIMZ:J:U'U’:.:rlﬂul,vd.,g.f( u"(jﬂﬂlfulfsy
.Mu"._)"gufrmuma_u/fa.Jiuéwli -:tpKyf“yd((;...,ﬂmgL.

lyuﬂxiwéy(‘”fu’w;u&.m/uw S emble M5

?::._,/;.J’u*»wréd: P el
/B (B) . | - (" (A)
26 (D) | (O
] S YK e 62
&7, ® ~ oM ()
Y D) Ny Py (C)
iy e e s 63
St ® BEY RN
S (D) - Ean ©
| | Te UahEe e 64
sk (B) ‘ 246 (A)
S6 (D) | = (C)
| B P RS- I
dae B} | 4B (A
ey (D) “ Ltm/zil (C)
V.g_JLng(“' AR ry,-;uKy(‘”yir&;....ﬂauméiwv 66
- A B | . BTN
S T R P ©
mamm o e



| sT-2 | _' 56 | W
-w...,ufé(-zs t‘67)J!rJé:(£U’ &
lfdlr,n;_fd_u)c_ e
Vv ud LUl
'Q‘Jg;l}.{;r"“,{ylﬁﬂ
br e U § e s P
-Ju)é'-—d'u,c".ﬂc..dr
Gl E L e
”u”a-/’/rdrru,-uﬁ |
.f(/dL/Jc'_.é.Jt‘é./ \
'-Ir/LJ;d:L,._.LJ.ﬁ' :
-c-_.(’rlfﬂfzidﬁc.l/
el iUl vyl
g b = OE
S o G AP

«:‘me@;m

_ _'b.‘:‘." (B} (a)
ety © | ,,_/; ©)
& *‘c.df »:_dy“ff”\ﬂ._ﬂu“uf 68
: Sletb B  Seds (A)
_JJ/?L?@)»U!J}’L o _ JJJ"LZ..,U:;(»
- | S lpfe ra” .fl.u_/ 69
Calpe)d (B) - eleJ P (A)
,;LJK&‘;:.J%;JJLJI' (D) Md/u’: cy
o - <‘¢.Lul/d;u[/u@_£/iwf4_dur- 70
Ands @ _. B YIC V7N
S o - Jui (o)
. | ‘ QL..,-/L#JHLJ/[:/W 71
e @ - Jo @
- Sersaddor o A o
IWiAmm |

L2
r,l'



57 | - ST-2

- PSS fog é".g&(ﬁ’ 72
@) B 2w
Lo S 5 (cy
- ?g,;s/g’c;.r/’{u:; 73
G | A oW
# o) | JE (©
' "b’/ u:L;c_....-fﬂK‘gF’c_.Jlu;«ﬂ"”a.u‘)dis 74
_ /(” = JE A
Y 'Ada [D | (F© |
. 9.:,u’g,r-?-u*m//ﬁg!uislwwfwa_dw 75
d)w.»._’ Je @)
4 (D) | dws ©
i *‘u*gfu’fid"”/ 76
-7 (B) - o (A)
D) u"j.Jsf (C)
| ?.;.dx(’auﬁ!_;mm.t:[/-wfu"“[_u,ﬁ“’u..;w' 77
_w_,,; (B) ’G...::} (A)
Lf"' _JJ/" (D} B Wi 7 (C)
1| -é@;ut‘igcﬁ-(‘_f 78
A B | A omw
i (D) | B O
| e e AU ts 79
JS o Ty
7 (D) ‘ de (©)
- _-4‘_t’n,juiw,,..,...,.,..,....L//éa_JL‘»’-IL‘_J,[; 80
RNV - U W
-d-‘wl o) | G ©
R o e S Bt 81
- dzb (B) " | Y/ w
- UV'{D} : | _ J/
- [eoz] | ) [P.T.O.




ST-2

,f/-l

;’jl.

G Lb e iy L e Sl

& CL AP Ry b

A
ATy

i e sl

- t/G}cJL‘fffugc;_ Ui Cf(

| %J-ﬁdwg:z_w;
e J}fé‘f'x’ oy, &

< £k
o 12t

SEdF e

S F s

sy
lﬁ?i?zsfi 43

STy

Tt 13

T

58

(“-_ t‘/dleJb;JuL ;..GJJJC/"I/U:{KJLJ |

(B)
(D)

(B)
(D)

L
r,l'

R - R Sy
B) vy @)
(D) A ©
_LtrJJ;;J)ul
(B) e ded i Al (a
D} - e teU it (o
_wéfa.f’Lr,z_w_bia’.dediLg
(B) Ky
(D) | ,_.}“LULf - {C)
. | e UL bl
(B) et B m
AD) CJreb
e ednd I I Sl A S
(B) '.‘;_t'x.iwu.f:.}'ﬂf&%»t (A)
(D) el L (O
%
B) Iy SaN
(D) < (©
fe er/u/dew(’f«ﬁWu'ruJLf
B S
) Suzs

Gty (a)

_ li:;;:l! 336 bhy .(c)
'_iu[ﬂif}:%ﬁup"ﬁ;«g,u?
284w

sz ()

.82

.83

.84

.85

86

87

88"

89




. 8T-2

El
2

T|uUs - I
WreF - I
f& 30 e w0 anfe |
| T T A A W e |
%%ﬁwuﬁﬂ%%ﬁmaw(wﬁl-@iss)mwfgﬁ:
gfgsn =rn =,
gfésn =g fafern, mmwﬂﬁaﬁﬁﬁﬁrmﬁﬂwﬁaﬁ|
W@W@wwumamﬁ%m%m|mﬁ$§nﬁ%ﬁavﬁwmnwﬁ
Thrererdt, TR ¥ GRS, FOW ¥ FTED W] sri wf Ay snfen femer s wiwl S wem O
o T ST | arEiS fifvgE mivd favy 6fES el § o @ 3e T fedt o a e
T - et A fovene W fa H wwa ot SR H 9w @
U m@mﬁﬁmwﬁﬁm@mmwﬁmmmﬁwﬁﬁuﬁmﬁww
firere wfesh e o < 959 7 e L
S 0 § uwd 7 o W e R I8 Fw Ah o § weft w Y H { A o < faww W
T o

=R lmaquawﬁﬁﬁﬂmwﬁmmmﬁﬁmﬁ
sfreT a1 w0 S A we |

GIEE R
|
- 8l S TREF oo, N | |
@) T o B) s s A
) &Y - - () "W
62. T < wea fawm o — | "
(&) sferEE | B) T T
© WEweh o D) g ¥ wE
63. T TR O/ @ oo, T fEH TR 3R 1
@  gEmstt | | ®  Te=ragh
(C) mararsF ' (D) &t |
64. w@mmﬂﬁém@rﬁ%mm—
) W T SR A e (B)  FERd 1 M A
Q) wfgTa-wsd 7 wiE w o : o). T fom @i gy = ey @ |

L - [ 602 ] o - e | PT.O.




ST-2 | 60 : o (_“IJ
65. ‘TR’ e S A g —

(A) % (B) foerre
== (D) A |

T3 wiaw w5t € ¥fe foma yaer ( gora 66 @i 70 ) St v fea .
o Sftaro] =t S H, Site faes W A, ’
a1 A Sfie ot w@, 9o W A 9 |

weh F e e ll, X @e St fasr gem,
&7 gurT Wy o=, ofhe st orem g
T = Qo o, A @ g g

S fore & o, ST W E S o |
Sftat et S 9, offuT we wer wy
dftsi et ¥ S1e fowa, @ @ ol 4 W |
79 form 3 e e @, [ AR Y

T T frbr aTea @, WER W) |

66. o8 Wl @ W H Siery] e —

i @ B eI
] O TR IEE | (D)  Eed 3 T |
67. wifers HfE §F T o3 off 2 ;
‘A)  @ErfeR g : B G H
[C) garxH (D) HEERH |
68. ‘W'Gﬁwaﬁ_'
@ TR | B e
© W&R I 1o B =
69. ¥Fa ¥ I3 Ry & 7 aiR s vy gfd 2
@& ﬁ@w B i:) g-ggw
(€) &€ R (D) e SR |
70, "I ol € e W B el fam W oweimR s 2
@ T B e
(€ o (D) Faferit |
71. #fs feTer orwm # forg et ome | |
@& | Tt | B W
© @ | D) faweh |
Wiy (602 | -

.i._‘. -~
T -



[w] | - 61 ST-2
“firg ait § ot s e g faen el 9 feeg TR

AN S Gl . (B TS g

© fred g | (O) TS I 1
73. ‘T D A G . TS I TR

B | | |

) 9 (D) ¥& !
74. Wmmmwﬁwmm— |

@ | e

(€ - | | D) T

75. ‘oG g STEHE T9’ TRTE S Haws R — .
(&) TE WE TGS | |
(B} qdmgna?ﬁﬁ:mﬁu |
() aﬁwmwmamﬁﬁmaﬁ|
(D) e e § AfE 7 faes .
76. ‘TS angET S 4 fRa 7 fed ' H fawd s —
A) B B AR
©). f=a (D) ®FS
77. ?ﬁﬁ:ﬂmugm Wﬁvﬁwmrﬁéﬁfmaﬁ—
@ fe wria S dieter @ o R SEiE |
B T A R
(©. Tifes weh g W T diefter = oy X wfed
. ) fEa = wmafe feg aw o
78. Tﬁﬁw—qﬁ@ﬂa‘q’ff@ﬁ 3 toor firer o —

@) R TErEm (B R HRE
(€) iR o Hgd | (D) TR TR |
79. T T Hhed) T T AR M 2
@) gt | B) Hterst
© @R | O T
80. IS wAMl SHeN H® — | |
) e enfer fad e ? . B W uEhaa AT
| © fsgafamgeam e o -mlgﬁﬁmﬁ@w?
e - [RTO.




L

62 W
81, femma@ ... 9 == a2 |
(a) fraw - B) FH
© wm (D) T |
82I._mmﬁ'q@@ﬁmﬂ3@@ﬁﬁﬁﬁ—
@A) v o B) WHR
€ T : D) IARERT |
83. a1 fHv} el sysw 7 e —
@ femsr =
(C) HReEdt (D) =5 | |
84. ¥AE # R HEY IR *X07 Fee o | \
) TR S FE A wfeee ue | g i
(B) 9RA @ grawEdt FEmE
€) e ww u
(D) s S onare @i |
85. & W &t st s At @ few |
A feee d eEa R (B WD ety
€ fa3 Twm (D) "W ERE S T e
86. f&e7 @ 797 yer < oo wga — | _ _
| (A) i s e fae F g9 (B) S S womw frw-fod v F g9 )
(0 9 S e wRf w WA AR (D) SifE S srare o @ea H g
87. ma@mwmmmwm : |
(A) TR G | (B) TR S =g
Q) femE v dwmmusida 0 (D) et e
88. ‘gﬁﬂfwmﬁw.@jaﬂﬁdmm? -
(A} mﬁwgmﬁml
B € faf weru gE E |
() wﬁm@mmmﬁ| .
(D) ﬁmﬁ'ﬂq@%ﬁfﬂww& S SO AE YA gEe |
89. =rfA # ey ok g Y wA
) feama = wg ' (B Wi forah
© fgFhaem - D) w7 T@W |
00. ‘sEER’ um— |
) srEar dET (B) 3 Fuis
(C) ¥R AEA | D)  FH & T I wE |
LAY (e02] -




63 | ' | - ST-2
RERR i |
o o3E I
faﬂt"raﬁaa‘wszoqﬂﬁaﬁi
w%qﬂﬁ?ra'cﬂzml.

%Fsaﬂéauzé HE"EW613"653‘6€@H‘€W@@?3F&H

FEas nmud mmy fee I3 w4, Favﬁmaﬁﬁﬁrufaﬂfaétwéfﬁﬁzwwfﬂﬂa%ﬂmmm&ﬁn@
ﬁ{aﬁe‘uauame‘fwaﬁ | awamwhmnw@m»mﬁm%»@mm?wnﬁnmm
n5se | §ug Hay, de e € Afenr e, qfaaa??efewe?wwaﬁsrﬁnéfeﬁwmmé‘
=13 ¢ guds v & 3 dw wdt a9 faor feawﬁwum%mn@h?ﬁﬁaéanﬁm%an
f‘—efaefemfﬁa?ﬁﬁaﬁn@ﬁaaagu@ 78 w3 Ty faans & 93, =z Hod w3 ==t §3 faogg dies
W?Wmﬁwmwmmwaﬁwm@ﬁaﬁfe@@mm%

_ ditsr 5t §w fé wou @t JE BEY dEt mEe &t IR | :

61. wWuE wnd’ faﬂf—omﬂwumﬁ?
(A)  fow-=oa = B) mmema
| (C) you-eg | S (D) W-ﬁﬂ_‘l
62. ‘&¥t wm 5T G2’ - T § gI-E e ues - | |
W w0 (@) @mwsdd
| ©) &t FEw adf ger | o m) qsfamm“rwna?w
63. EFE»FEE"H"WH&?@W%? - ' |
(a) wHlgeE o - (B) AT
(© fuor R O s
64. ‘mséxwhwmézﬁamnégsﬁm%wﬁwwéﬁnwmw’—fwﬁ
@& fem R . B ws
© w3 | o D) nmse |
65 g HEY T g we ave a1 3 9 |
(A) vt B | B  HoES
L© wEd o p dstmsdtwmE
R LA . - o - {pTO.



ST-2 | 64
ﬁafw&a*ﬁezaa?susa mmseyma&é@fﬁfm
Wﬂgwm@
34 3% & AaQ _
Ug 1% & AR |
feost ¥ o w3 @ wrgi
87 we o Har 39 AT, - -
feg Gust § W= . \
Ug % & AR | ' ' o |
66, Qudws afe-22 v fan @ Grssh st ot 7

VI -
) s a | D) E#s
67. Qudas afe-c2 few fagst fidfipar fost ot 3 ¢
(A = @ o | (B)  § = HF g
(C) G T = ymg 0w (D) I o st HEe
68. THmUz @V’ T e d - '
A) - TEEd wls (B) 93 wear
(C) wfe'aﬁzr_ - - (D) W9r uBET
69. %mna@%ﬁaéﬁwamwwwwa 1%
@) wedt B dase
(C) foras ' ' ' (D) 3% & afoer |
70. THTT v faww wm e I 7 8
(A) 8 sHFwIe faor B) € sA-zs drer foor
(C) Qv z@t-s73 arfer foor ' .(D) R 8r =t ofs 381373 AN fanw |
71, ‘frogast %9 @, AgE T8 - feg fan 3g e v § 7
(A) OB T | B ymee
(C)  welamreoa | (D) ferbrm o= |
72. ﬂmﬁwmﬁ@ﬁﬂﬁmmﬂﬁ Fezrﬁ:m'a'nge*aﬁ‘?
(A) Fgas T - (B) mw_ _
(©)  furfos T o (D)  Fwwew e |
muwnm -

e i

¥

——
'



: 65 | ' ST-2
ﬁafaﬁwﬁﬁ%haéwfé'ﬁhﬁﬁﬁﬁgﬁﬁaﬁ%ﬁé}ﬁ?

(A) €21 fer ¢ Az faafmar B &8fer 1 S Az foafer
() &2 ifsnr Rz foafenr | (D) 62 xifswr § 1 Az faafamr |
T T 1waed wH oo wEw v 3 7 |

(A)  wAtTZ 2 : (B)  Hfas g=

C) T3 A - | D) HE Fuz |

3 ol Fad adt 920 @ i fe faoer iz gae 3 2

(A) R Be o frdtar wat Feor B) W T o

© “RE @ (D) T 372 y9vE we |

€9 Judt fAfipw fEv afes wet faodt da<t fedt 3 2 ,

(A) e fet o (B)  mifepr feuil

(€ 3w w3 milfer fedt (D) e fedt |

Hes-amE w8 At Agd 3 0 | |

(A) ot e At A aaE ' . B fowwr = AR dH FgeT
(C) & w3 fewar o Al 305 (D) Budgs it f<F Jet 5dt |

35 fafm <3 wigmmss W 3 faoer sl &4t T 2

(A) T9Ix Hts Az gt 3 afesr gAnEt get 3

(B) =93y fg Gamas gt 3 afes g wrae g §

(C) =3 w3 dfesr fdo w3 fefomt §3 waor I&1 3 _
(D) Wﬁmwmhmfﬂﬁfuwkﬁa‘ﬂmwﬁl
qaat fiffemi 9, 9o fefunt f65 o ot st get 9 |
A wEueE (B) 93 fed

(C) aoEeIos o (D) fewnfunm |
s frfwr o faggr @en aat 9 7 '

(A)  FeB T w3y P sfesfea feRms Iz

(B) udHt svew @ fefzom 3 yfeszh @9 on

(C) fefewrsahi § ses € aw-=A3 3 A queBy

(D) =% Uz & HET9"g ANSEE |

HE5-aH® & 8w -

(A) AT frz wet Joor |

(B) &h»mﬁwﬁ?mqaﬁgﬁﬁ?m

() fefenmaeini § €fvs gahnt & famrs age@ar

_ (D) enfont § yofes ags o& T9a @z

L = ~pro



66 - | [w]

ST-2
82. I § fihre et Fooni yEl ot 9 2
Ay GusmEr By fai
(C) fenrags | D) s 1
83. fea goit us-unsx BEt 9o fafim (&5 faga war oot Feured fder 2
(A) W@m@%ﬁ-ﬁg : (B) fenradfes Has
(C) o7 R& ©t AUAZS" (D) &T® IASIS € FIHT |
84. us-yRsw §3 <3 fogsy de aud, fam a @3 e R as 7
(A) uBE Tm fonrs 82 O | B) uZ <5 fumrs st f6R
(€ =Wugdemos D) de warBz €3 | \
85. U5 fafur f&9 fags niftmrus o fawset deg sdf faor 7 mawr 7
(). dfuges e (B)  gO-ORS
(C) Gwads yiaey (D) Ra-HeT | |
86. ' uuiaE gt o wimr mter 3 7 '
(A) - fermags &t Hedt gEadt (B) w@w@&wf?vhgw
(€} wa8vas | (D)  iFE 8§9r3s |
87. wng-fors yms fefenrast 9 fam dor 3 wE GTe@? 9o 2
(A) feuz &t 3t ' (B) feit & Suit arat
(C) wge=H (D) e mast |
88. dfen & g wigh du »3 Gt @ orewwd) A Yifemr wet frod fedt Buti e et et 3 7
(a)  fodarsfia yifumr (B) - =wzfams yifimr
(©) my-Gsosia ifwr (D) Afs ifer |
89. eR3-frs ifimr wet fxut afs dia st 3 7 |
(A)  yFat @ Ao wie F T
B) yrsiT @Az IR T
(C) engﬁmaqnww%man%ww&rag%aﬁ
(D) fegt fdT fenr-eng gez & &3 aat get |
90. fedusfie yifvmr wet faat afs sla &at T 2
(A) wwmé@%mm‘fﬁ?wm@
(B) Ag-aram wet e foss 3 At s 3
(C) yHa-u3T sx@zT T ufz mwt o 3
(D) ®a® Tt Hgwest we get T ) : |
AU RTRe o

-
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€38 ufatoll valot il s2drala 8.

1A e dwioldl ER uret s4is 61 2l 65 ot vatot 2l

suouni tadt atdla u@ust aella det sastami Riasdl o st guRid 8. sucud mer sal
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dq, adet e @21 aq Mg, e¥s aiell W Ao WAS oot Gl B, d awdsll 21512 58 ded
Wetutel 208 ueiM 53 pasEl el ma ceud AlssA [t 208l e sudl.

61. “aidld 2uifdel 2Aicindl Mg i G @otwer s3 ue & 2
@ ada B il
{C)  Aieinal : . (D) ol
62. ‘“‘wdulg”’ 3l ustzell 20021 8 ? .
A  ss& e (B)  acypu
(C)  Guue : - (D) siena.
63. ‘ oflddotitiefl sl eloemi U & 7
(A) UGk - (B) [(atia
(C) =dau ' _ (D  walaf.
64. olldottiell 52 L5 oSN 2pa1ct 53 B ?

(A) aelldl 2tifel aiewnal AR (B)  aicllal 2iilciell 2icigan s20

(©)  adld il Aiewd 3 (D) aidla el aioten 8.
65. “‘neww’ocdl 0@ g4 wsl. |

(A} uet + 24M L ‘(B) W +em

(C}] M+ cutd L . (D} uel + 2.
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[iet esaton vig oflell aii,
gl el ofict A% of W
@l 2a ddl o 20m) asidl,
udt decit olla ol [Gaud.
YRl olled WGl agl dle deil,
82 dld %8l ud ola Vel ;
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66.

67.

68.

69.

70.

s 59 Bromer 20l & ?

(A) 25 ddl gl

(C)  sldqll ué el21l ot 2rvidl
Sat sl o oilellal A S2dt oell ?
(A)  olased

©) ol sesti2l

56 cBuoll Brct ad @ 7

A)  oldd wa

(C)  clidlldd 58 wma

Slofl u2 @lsl (Rt ysdi oell 7
A)  oldla 5 wa |

(€©)  oldd uoll oiard

(B)
(D)

(B)

@)

B)
(D)

(B)
(D)

uttiorel dtcigd SaAl S MEisRdAl Gualo sal & ?

(A) cnaqfa

(C)  vicuopu

71.

AlSAe], YSrdla] asel 53 9 7 E
a) @l

Q) eo0e

(IR

(B)
D)

(B)
(D)

el 58 as@ ded ¥ olag
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@Sl A5 Hya arsA il Asel agy siter arsal Gkt A4 Bau usiRe, alsA séaia ?

(A)  2ug ' . (B) 2ysd
(C) 2iga | ' N (D) [adeat.
Aldciptiell 52 ue Gorausaall e adld auzi B 2

(A} e : (B) 4
(C) Gu2 D) sEw.

“viot pReue 2l vq)? W 52l 3yl audl s ?

(A)  udt vHiadl - (B} udl gl uR o 28al

(C)  udL w9l usai o D) wit ous 2adl. .

“aler et viler” oft (@RAell sécm 55 87

{4) =2si ousi c_u_cﬁ B o (B) 915 S1H 2121 Had? SHAAR o ARl
(€) ot 3& amedl S (D) addl d uédl.

onas ¢ Gud Mol 3 [aeesipeial e_milcvol vl 23 & ?

(A) s A | Al o (B) st 2t

C) oz D) aawA

our@sienti ool sﬂ: _m;qic_légl;?'gi?ugiel otefl em‘_l.

(A)  ount eflviarfl uldar - - (B) ol {AlaE 2iolal @51

_[CI) Gu2 wuel euulisRL ¥ H (D)  2FRs elBis alsast @siet.
el ws ofln Radl aua0 q&lz ” —

(a)  olln Ral [Emau[buiﬁt sztctg o (B)  ollm Rad @vupp s2iad a8l

(C}  ollm Rad duisel uBan {cﬂ!ﬂ puudl (D) udett Rad yestel suud «dl.
Adewniell Rrgterol 56 usle Ruuellied] S 7

(A) qa - S (B)  euuRiel
C)  wselld2 v (D)  sed.
AAciuiefl Sial Rraisel an[éaﬁ aél Qiﬁai ?

(A)  ls-swez o -_ﬂm (B)  wsayRas
(C) auaal il : -;'?.er (D) st uL swi.

dviat s‘lelcelou [&smcﬁ auaua m s'ltlcet uz @ ?

(A)  =gel (B) .5?.101
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(C)  aize ' (D}  Auisl.
83.  oildowstiell 2} dlba anftcalsas] 2aau o sdara. |
(A)  22aeela | B suaisa
(C} el ' (D)  widvot,

84. ollAstiell 52 Atéhait WL €22 Alblct B ?

(A)  2uzslse (B) 5@[2{515

(C) ~snyge: ' | (D) Mouda. v
85. “$latasil sma 2uel Aouw’ §CE HIgoruel seu Riva 2619l epoies & 7

(A) - dlas B opln

(C) Rt} D)  [(Asiel.
86. olldounial 3 2ait2u2 ugficall 2aieeu siell 2

A eae sAL e (B) otiedll R Aoal
(C)  aul s21 (D)  uadisli cvaior ctvdl.

87, [euellii 28t eirugla @atele] uHet #¥udl 56 s2dlél GdH en ?
(A)  [aswubist (B)  swuugs
(C  dAfha - (D)  ifws,
88.  Wrelwiell el S2dl and oeeyfiice otottacel] 2iell 212l S12el sAl ena & ?
{A)  awadl Gax dd asei a5t ;
(B)  [aenefledl suell evil 213
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(C}  Gualeyet | | @) st
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In this Sectlon there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each. ~
The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 ¢uestions.

wmﬁammﬁwtaﬂﬁmwﬁmwwm)mﬁmam% | 2 STEvel F ydw
% 60 agfachedd T € |
qﬂmu’fﬁwta]ﬂﬁrmamﬁaﬂmwgb)ammaw g =97 e SEgy o 9 T
%ﬁﬁ%@wmaﬁw%@mﬁ&ﬂwmﬁ% -
SECTION - IV (a) / @UE - IV (a)
MATHEMATICS AND SCIENCE / Tifora wern fasm

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions. \

- Es g sow% |ﬁqaxmfafﬁﬁsﬁﬁwwamm%3%mﬁwmﬂﬁaﬁ% |

91. Which of the following is not equal to {32 ) 39

@ 3° . w 93
© 272 | o) 63
ﬁmﬁ@mmum{e,z)sﬁawﬁ% ?
) 3° - B 93

o 272 | o 63

92. Which of the following is true for { a.+ b)2=a2+b?%2+2ab?

(A Itis an identity : B E It is an equation
(C) Both (A) and (B) are true (D) Neither (A) nor (B) is true.
(a+ b)2=a2+b2+ 2ab %aﬁﬁﬁmﬁ@ww% ?
@) 9 Uw gagie ¥ o (B) ‘Q‘%’WW%
(C} (A) T (B) a-—i’f wad - D) (A) T (B) TH AT

93. On dividing the expression 27x3 + 27x y+9xy?+uy 3 by y + 3x, the quotient and
remainder are '

x3 xB

@A) 9y?+ 6xy+x?, zero _ (B) 27 _J+27x2+2ly' - 81 b
i 4

© 9x? +6xy+y , Zero (D)  27x* + 27x + 21y, - 81 %

aﬁﬁﬁZZx3+27x y + 9xy 2 +y33ﬁy+3xﬁﬂméﬁmWWHmﬁﬂW%
. . 3 5

@ 9y? +6xy+x2 e ® 277, +27x%+ 21y, _81?
- ' 5 _ x4
€) 9x2+6xy+y?. T3 (D) 27x% +27x+ 21y, -8l g

iy N  iemo
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'94. There are 54 students in a class. If the number of girls is % times the number of
boys, then the number of boys is |
B 24 g | ® 30
© 36 - - D) 45
w54 famel # 1 2R oSt 9 e, T A den A ¢ Th e @ on w v ¥
) 24 -. ‘ (B) 30
) 36 D  45.
95. Which of the following statements is not thé ?
(At Number 25 is a perfect squére nﬁmber

(B] Number 38 is not a perfect square number

{C) The square of an odd number can always be written as sum of two consecutive

positive integers

(D} The square of an even number can always be written as sum of two consecutive

positive integers,
o & - o e 2
(A} HE 25T ol o Hem
B wEm 38w T wen T
(©) it faom dem & ol 91 S T g quiet F A9 ¥ w9 § v o e €
(D) e 9n gEm % = # Q HEr oI ot % A & w9 vl o w A €
96. Which of the following statements is false ?
{A) Discount = Marked Price — Sale price (B) Discount = Sale price — Cost price
() Profit = Sale price — Cost price (D) " Loss = Cost price - Sale price.
i F BFA-T FAT A § 2

@A) W2 = ifad oI - T qod B
©) W =Taa o9 -9 g4 (D) mﬁ:ﬁw-f&mq@l

LT [602] -
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97. If a:b::c:d, then numbers a, ¢, d are in continued ratio if
(A ab = ¢d ) B) ac = bd
(C) b=c D) a=d.
AE a:b:ce:d @I q ¢ divaarym d 2t ¥ afg
&) ab=cd . ® ac=bd
) b=c | D) a=d

98. A sum of Rs. 210 is divided between Ram and Shyam in the ratio 7 : 3. The amounts

received by them are respectively ( in Rs. )

(a) 147, 63 (B .63, 147 *

(C) 140, 70 _ (D) 180, 30.

210°%9 %I TH R @M F 7 : 3% AU A WA WA F R 9w o (79 q ) wae:
(A) 147, 63 : (B} 63, 147

(C) 140, 70 (D) 180, 30.

99. Which of the following is not equal to the compound interest on a sum of Rs. 48,000,
for three years al the rate of 5%, calculated yearly 7
(A) Compound interest on a sum of Rs. 48,000, for 1 % years, at the rate of 10%,

calculated on the basis of 8 months.

(B} Compound interest on a sum of Rs. 48,000, for 1 year, at the rate of 15%,

calculated on the basis of 4 months.

{C) Compound interest on a sum of Rs. 48,000, for 9 months, at the rate of 20%,

calculated on the basis of 3 months.

(D) Compound interest on a sum of Rs. 48,000, for 1 year, at the rate of 15%.,

calculated on the basis of 6 months. |

frmr 7 A F TR T ¥ 39 wwaTE WS F ) % 48,000 To W, 39 ¥ fa, 506 W W B,
i fewre @ @ s ?

() =%afs = 48,000F0 W, 1, T8 F fAY, 10% T F, 6 7 F fearar &

(B) 5 AW 48,000%0 W, 194 F fAY, 15% T H, 4 WM F fewa &

(C) TG =9 48,000F0 W, 9FEH & faw, 20% I, 3°7¢H & feww @

(D) Fafg NS 48.000%0 W, 194 ¥ fog, 15% = 3, sqﬁ%%ﬂmﬁ r

im0 [e02] - [ PTO.
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100. If a person X sells a sarec of Rs. 100 to Y at a profit of 10% and Y sells it to Z at'a
loss of 10%, then how much ( in Rs. ) does Z pay for the saree ?

@ 99 | | B) 100
© 101 | D 90.

#1 T X, 1000 B T WA A 10% F AW W v dvwm ¥ ol yId W B 100% F
TAA Z RSN E 1 Z IW ISt W fHa Fo H W@ ® 7

@ 99 B 100
© 101 D) 90,

101. When two parallel lines are cul by a transversal then which of the following is true for
the angles formed between them ?

\
(A) Interior angles on one side of transversal are equal

(B} Alternate angles are not equal

() Corresponding angles are equal

{D) Exterior angles on one side of transversal are equal.

aﬁawi‘@waﬁﬁwﬁﬁmi‘@aﬂeﬁ% R TR e w % fag e F @ wE-
HYTHAS 7

(A) %ﬁmi‘@%wwaﬂ%a@m WW%’I@I%
(B) TSR v seH el &1d €

(C) T IV S B E

(D) ﬁﬂm%@mwwwmﬁa@mwﬁﬁﬁn

102. What is the minimum number of components requlred for construction of a
quadrilateral ?

@a 4 B 5

C 6 : (D) 3.
T gV B A F U 36 F 9 %9 fEed sawd w9 e onavaw ¥ 2
Ay 4 ' B) 5
Cy 6 D) 3.
103. Area of a trapezium is given by
(A} Base x Height | (B) Base x Height

{C} (Sum of parallel sides ) x height (D) % (‘sumlof parallel sides ) x height.

Wﬂaﬁamwm%
(A) YR x FeTE (B) % YR x -“Jﬁﬁ'
Q) ( HEE qenad I ) x (D) (wmgmaﬁmﬁrn)xﬁré|

IRIW Iy feoz] -

R
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104. The 'surface area and volume of a cylinder of radius r and height h are given by

respectively
&) nr2h 2nr(r+h) - B 2rar(r+h), nr?h
© 4nr?h 2nr(r+h) . @ nr(r+h)arh

rf=a gen hmﬁaémmqsﬂumamwm g

(A) nwr?2h 2rr{r+h) . _ (B) 2nr(r'+h).nr2h
© gmr2h 2nr(r+h) (D) mrir+h) ar2h.

) &
105. Which of the following is not a condition for the congruence of two triangles ?

(A)  All the three sides of a mangle are equal to three sides of other triangle.
(B) Two sides and the angle between them are .equél. |
() Two angles and the side between them are equal.’
(D) Al the three angles are equal.
fet & @ H-w <on A Frgett A wahTen g w0 ¥ fog vt 7€ 7
@) R st A e ST d e
(B) ﬁwﬁ'aﬂiaﬂ%aﬁawaﬁmmﬁl
. © E‘Taﬁwaﬁtaﬂ%a‘lﬁtﬁwwﬁrl
(D) g il

106. The mark \‘\H\‘\ is known as

(A) tally mark (B) frequency

(C} pie mark | | - D) bar mark.
@ ¥ fag (e o ) (B) TR
© s D e fE

LI 602] - o | PT.O.
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107. Histogram is used lo represent

) | (A)  non-continuous grouped frequency distribution
(B} ungrouped frequency distribution
(C}  continuous grouped frequency distribution

(D) all of these,

(A}  3THAq FFG SREN wed (B) P ARERA 92T
(C) 9aq aiiha aHERa 924 (D) 99 & 9
108. The frequency distribution table for the data 7, 2, 3, 5.6, 2.9, 3, 2is
(A) Score Frequency ) (B) Score Frequency
i -2 3 1 7
% 3 2 2 | 2
; 4 0 3 3
i 5 1 4 5
| 6 1 5 6
7 1 6 2
8 0 7 9
9 1 8 3
1 | 2
(©) Both(A)and (B) (D) Neither (A) nor (B).
SFHS 7. 2. 3.5, 6, 2. 9, 3, 2% foru seTar s w@on 2
o aEw (B N T
2 3 1 7
3 2 2 2
4 0 3 3
5 1 4 5
6 1 5 6
7 1 6 2
S 0 7 9
9 1 8 3
9 . 2
© (A 7 (B) I - D) (A) 70 (B) 3§ | FE AT |

LG - [eo2 -

®
. e
-




109. A group of students went fop#iymmer holidays and performed various activities as
given by the following diagram What is the name of this representation of data in

statistics ?

{A) . Histogram | . e (B) Bar diagram

(C) Pie diagram ' | _ e (D) Frequency polygon.
mfefawqmmwaamgmmﬁmmﬁnﬁﬁfwaﬁaﬁﬁﬁmmm
uaﬁia%lmﬁ@:ﬁﬁwm%m#!@hﬁwmﬁ%7 |

@ o - o ®)
t|1§ pus S T o) —_—
110. Representation of ungrouped data by oolumns of equal width, unequal length which
are equally spaced is ca.lled N
(A) Histogram o m . (13)
(C) Pie diagram - S D) None of these. :
wﬂwmamawm Mmmwiﬁwﬁaﬁwﬁmmﬁmﬁmm

Bar diagram

© wf 0 e . D) FHARET

L 3 R £
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111. Mathematics is that language in which the God has written the whole world or

. universe.” Who said these statement ?

A
(©)

Gal_ileo (B)

Plato

(1)

Russell

Hamillon.

"‘Wa*sw%fmﬁqﬁw%ﬁqﬁ@mmmaﬁmﬁm% 1" a8 wad frgw & 2

112,

- WHE YEeS % STER T0E e al mafte st §

113.

“(C)
S faanedt wfafa e v s 9a 3 o9 faeners § 98T o 9a |ﬁ%aﬁmﬁ=ﬁw% ?

- 114.

LI D

(a) e
il

@)
©

(D}

W
e |

According to Prof. Shultze, the basic aim of Mathematics teaching is

{A) helpful in other disciplines
(B} developmeﬁt of mental powef
(C} proper use of leisure time

A

(D} to make aware of the basic and genel_‘ai principles.

(B)
(D)

(A)  qE el F weraar goe I

(€ @l T w1 g

urfgs it w1 9w |
i a9 | gl | 9fiEg =1

“The students who can't understand geomelry are not allowed to enter (his school.”

This statement is of
(A) - Aristotle (B)

Plato (D)

VST (B)
© <& D)
Inductive method is suitable for

(A) establiskﬁng the formula (B)
(C) understanding the problem (D}
e fet Fre § @ forh fore S92

W g R ®)
©) W F wE ¥ fw (D)

602

Herbert

Hamilton.

Tee
e |

solving the problem by formula

f[ormulating the problem.

IE 1 G GRI T W F U
A F1 9= ¥ o

-
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115.

116.

117,

118.

79 ST-2
Originator of play-way method is
(A) Froebel (B3) Dalton
{C} Montessori (D) Sigmund Freud.
v fafy & swogmn € |
(A) e (B) TR
(C)  HroeEd (D) Tomee wEE |
The subject Mathematics is important in curriculum since it
{A)  helps in the study of science subjects
{(B) improves logical thinking
Q)  is useful in daily life
{D) all of these. N
nfor fawa 1 ToTEH W e & FiE 9@
@ fagm fawel 3 srems # gee @ (B) m@aﬁﬁmﬁmm%
(€) = Sftad I d D) T & us

Which of the following is not used in language of Mathematics ?

(A) Mathematical formulae (B) Mathematical symbols
(C) Mathematical digits (D) None of these.

nfora =t e & £ # | o v R o d 2

(A)  TIforiE A (B)  TIowdE T

(©) Tiforda Sened (D) TH QHIE TR

While playing Ram makes a quadrilateral with four sticks and makes the following
table in a copy : :

Number of quadrilaterals 1

| Number of sticks 4
What conclusion ean be drawn from his action ?
{A}) Ram is playing

(B). Ram is doing mathematics
(C) Ram is doing mathematics along with play
(D) Ram is playing and not doing mathematics.
B F A 9 TR A @ T wgds o @ R R s F e wfielt s ¥
wHS e | 1 2 3
| A i der 4 8 12
IHET 39 T @ w Frewd e s wwm R 2
(A) MA@ R . B U9 T wX w1
) WG % WY T T ¥ D) m%aa%w%nﬁmqﬁmm%
602 [ P.T.O.

-



sT-2 80 | [w]
119. Remedial teaching is required for
(A)  mentally retarded children (B)  weak students
(@) average students ' (D) | ‘all of these.
- SyENes foen wt wea gt @
@ A< gfs o= & fag B freg w=i % by
(@ wmr =¥ - D) TR e
120. What case must be taken while selecting a good textbook of Mathematics ?
(&) All the questions in exercise be solved

. A]
(B) It must contain a sufficient number of examples and queslions in exercise

{C) The number of examples is more and questions in exercise are less
(D) The number of exar.nples are less and questions in exercise are more.
':nﬁraaﬁaﬁﬁumgw%w%ﬁwﬁmmﬁw s W Hifen ?
(A) WO % W Y T R B | |
(B) wETw W A IR0 UE YS! § e &l
(C) SR Sa7e) Ao FeAraet H W FH &
(D) ST wH A FeAE # W e g |

121. Example of fibrous root is’

A Mustard _ : (B) - Gram
() Maize : (D) Carrot. _'
WRER yo #1 Iqew &

Ay = (B) . =

) wER | (D) TSR 1

122. Communicable disease cholera is caused by

(A) Clostridium tetani (B) Mycobacterium tuberculosis
{C} Mycobactériwn Ieprae _ (D) Vibrio Jchole,rae.

T T R 2 T & i

(A) avﬁ'@’r&.uw feeit : B AR SRt
(C) vghEEEg AW (D) ﬁﬁm‘rﬁﬁﬁ !

WEwm wE
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123. Some organisms obtain their food from plants as well as from animals. They are called

(&) Omnivorous _ (B) Herbivorous
(C) Carnivorous ' (D)  Predators.
o Sa-og ¥5-99 wd Fgell R feA % w9 H wen i § 1% wE ¥
(&) wareTd o (B) wERER
(C) wiEER o (D) sl
124. Penicillin is obtained from _ '
(A)  Virus (B} = Bacterla
(@)} F\ingi : (D) - Algae.
Yffaei me sihafy W w1 S R ,
@ fmmE . B  sfam R
€} wF A D) VEEH |

125. The transformation of a larva into adult frog is known as m.etamorphosis. The

metamorphosis is régulated by

{A) Thyroxine hormone o B) Growth hormone
(C) Adrenaline hormone D) Insulin hormone.
B % A 1 TAWh T T H FEARR FEd ¢ | AR ® T g g
(A)  erRifen g A B) iz e d
© TgAfEedEa D) sHfER e A
126. Fuel deposiled in large quantity under the ocean sea-bed is known as
(A) . Clathrate : (B) Uranium
. Q) .Thorium - (D) Cellulose.
T Y aeed § O A # s el e €
() =R | R | FEE
() diftan (D) A |

- 127. An object is placed belween two ﬁlane mirrors kept at 50° angle. How many images of
the object will form in the plane mirror ?

A Four - {B) Five

{C) Six _ . : (D) Seven. _ :

T TE~50° i T @ T3 < w9as <0 F meg w6 T § | aeae guu B o & faeen

N I

(A = - B =
© o D) =&

AR RE T | - lee] - L 1PTO.
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128,

129.

130.

131.

132,

82 W]
27 kilogram weight is equivalent to
{A) 27 newton (B) 9.8 newton
(C) 264-6 newton : : (D} 2700 newion.
o7 Freium TR gEa A ¥ |
A 277AF B) 987AH
(C) 2646=T%H | D) 2700=AF |
Noise intensily greater thAN .oveeieeeiere e is painful for human body.
(4 10dB 3  30dB
() 60 dB (D) 80 dB. |
....... e, T AT TEEAT A WA TR F NG R € o \
A 10dB | B 30 dB
(C)- 60 dB . (D) 80 dB.
Property of solid matter, in which material is directly changed into gaseous state
without undergoing into liquid state is known as
(A)  sublimation {B) condensation
(C) solidification (D) vaporization.

aﬁuwﬁm%wmﬁaﬁﬁwﬁﬁﬂﬁmﬁmﬁ@ﬁﬁ%ﬁamﬁwﬁaﬁhaw%
8 wed €

- 3EgEa ' ' ' (B) g
@ foosa I (5) e
Which of the foll_b_wing planets does not have natural satellite ?
) Mars | - (8  Earth
(C)  Jupiter ' (D} Venus. -
fifora o € foFE T® % WIHTaeh SWIE T8l § 7
@A W= (B) gt
(€ Tew=fd _ D) F |
Who invented LASER ? _
{A)] W. K. Roentgen o (B) | Godfrey Hounsfield
(C) Theodore Maiman : ' (D}  Albert Einstein. -
LASER &1 G fefhe =1 ot ? | -
(A)  T=go o A | B ek FEEETS
© foriR i - D) S A

FULE T (o2} -
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133. Which of the following metals exists in lquid state at room temperature ?

(A)  Sodium ~ . (B) Mercury
- {C)  Sulphur (D)  Thorium.
faeiferd ® @ FM- ©Y UTg, FE F A9 R FS sTaed § Ul e w2
) wfeam . B wEEd
) HEH | | (D) afEE
134. Example of thermosetting plastic is . _
(A}  Polythene : : - (B) PVC
(C) Melamine . (D) PET.
oHTEfET Wi 1 ST & | o
(A)  Hichte o B) e
(C) HeTHEA o i
135. Polymer of cotion is ' _
@ Cellulose g (8)  Rayon
(C) Glucose - (D) Fructose.
FIH FT TGAF © . - -
@ wgEw | B) ¥4
© T B 4% B PR
136. Which of the following gases is responsible for Greenhouse effect ?
W Co, B CO
(C) O, D) NO, .
. frifRa # & -7 9 dre W oy % o seReE ® 7
Ay CO, - By CO
C) O, - - (D) NO,.
137. Maximum number of electrons in an orbit of an atom is determined by
( n = Orbit Number )
A 2n @B 2n?2
© (2n+1) | O n
mﬁ%ﬁmmﬁﬁwmﬁmaﬁaﬁm%
( n =% & TE&A )
@A) 2ngN | B 2n2zM
© (2n+1)8/0 | D aEE L
LT LUTI ~. - [PTO
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138. Atomic number and mass number of an ‘element arc 98 and 251 respectively.
The numbers of electrons, protons and neutrons in the element will be
(A) 98, 98, 153 (B) 98, 153, 153
(C) 98 98 251 | (D) 98, 98, 98.
ferefl T =1 TREATY] AT WA FEAU W H: g @ 251 &, o U e, WeH g9 ggin
F1 HE&A HAW: A
(A} 98.98, 153 (B) - 98. 153, 153
(C) 98.98 251 M) 98, 98, 98.

139. Which of the following is used as artificial smoke or cloud at film and dran‘la stage ?

(A)  Liquid oxygen ' (B) .quuid hydrogen
(C) _Liquid carbon dioxide . (D) Liquid nitrogen.
mwmﬁwmqﬁm st awwwwﬁ%faqﬁwhﬁﬁﬁawv@nﬁmw
. g7
: @) 7 s B T EEEsH
| (€ %3 T SEsiES (D) %o A |
140. Which of the following products is used for construction of roads ?
' (A) Coke _ _ (B) Bitumen
(C) Paraffin | (D} Naphthalene.
freifra ® ¥ ®A- mmmmﬁ%wﬁmw% .
A | B) - fagad
© Hufe - (D) AR

141. *Science is the investigation and interpretation of events or phenomenon that occurs in

natural environment and within our own body.”

Above mentioned definitioﬁ of sciencé is given by

(A) Albert Einstein (B W. C. Dampier

(C) J. Jacobson _ D) B. S. Bloom.

g it ST o TR ST YRR H Afen we T gH i SISy w6 e ¥
I For i R for € 2 | : |

(A) 3EEC MM - (B) &Ge Wo THRR

€ o SrEraTE | (D) oo THo wgr{ |

LT s -
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142. Who established the Indian Parliamentary and Scientific Committee for improvement of

Science teaching ?

(A}  Jawaharlal Nehru | (B)  Lal Bahadur Shastri

(©)  Indira Gandhi - o (D)  Morarji Desai.

foa ovgon 8 a3 for dFee ki T AR W ) T e 5 T 6 2
A)  SERTETE Tew | | B @ TET

(C) e et B (D) HrOEsh <4

‘
143. Which of the following methods is used for teaching science in the present era of

technology ?

(A)  Programmed Instruction (B}  Team Teaching
(C} Computer Assisted Teaching (D} All of these.

aﬁnﬁaar—ﬁaﬁ‘gmﬁ ﬁmﬁf@aﬁﬁﬂ? ﬁﬂuﬁaﬁﬁwﬁmmﬁﬂaﬁmﬁ% ?

(A)  ANEES ea-ﬁm ' " (B) o1 e
(€  Fe gt faam D) T E
144, Whiéh of the following is related tc-:.Psychomo.tor objective ?
(&)  Organisation (B - Perception
(C}  Valuing -. (D) Analysis.
ot 3 @ - v e iv % s T & 2
A)  SHEETIE : (B)  weasiEm
(C) & FeH | - D)  faweryo
145, Taxonomy of educational aims / objectives is given by
(A)  Krathwohl . N (B) B..S-. Bloom
€ Robert Meger | - D) Gyan;e
mﬂfwaﬁ@zmﬁﬁwmﬁwm%mﬁw% ?
(a)  wE ®) o TWo =
© T o m

LT - [eo2 - o [ PT.O.

Wil
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' 146. Which of the following methods is not child centred method ?

(A) Lecture method : B | 53] Project method

(C) Demonstration method (D) | Labdratory method.
frfafaa 4 9 sF-4 aws wfxa fafy =i ¢ 2

()  =meE fafs | B) Weiae fafy

€ wE fafy o (D)  wEnTeTen fafy |

147. Which of the following is not a demerit of Project method ?
{A} Teaching haphazard and discontinuous
B} | Costly method
(C)  Availability of reference book
(t)) Related with real life.

frfafeaa § | F17- deee vgfa &1 9 781 § 2

% () T e1gul wE fasea (B) =@ wgfa

(C) T Y F IUCTHAl (D) orafas sftas @ gt |
148. How many main steps are followed in Project method ?

(A) ~ One (B}  Four

(G Six . (D}  Ten.

wrerer fafer § Fr e B o e E 2

A T ' : IHIN

) = : - (D)y—qE
149. Which of the following is nol a qualitative test ? ‘

iAJ Observation ' o (B) Check list

(C} Rating scale . | (D) Objective questions.

fr=1 § | F9 - onegE wien 9 ¥ 2 .

@) o - | B) Sita g=h

© Xm@ o D) TS EE
150. Which of the following is an aﬁdio—visual aid ? - |

{A) Documentary film | _ (B) © Bulletin board

Q) Ep‘j;;lias'cope _ (D) Flannel board.

Fret B A w-w 757 gva w § 2 |

@ g e | T g

© fo-fawm o= | D) I S
I [eo2) -

!..
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SECTION - IV (b) / TUS - IV (b)

SOCIAL STUDIES / @nnfses 1sqa9

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

- ETs A Fa 60T € lﬁqamﬁiﬂﬁwﬁwmwﬁm%ﬁwﬂmmaﬁmﬁ% !

91. The third decade of 20th Century was si_gnjficant in Indian history because
(A) ‘Annals’ by Col. Tod was published
(B) copy of Kautilya's ‘Art‘hashélstra' was discovered
(C) Ashoka’s inscriptions were deciphered

(D) - Indus Civilization was explored. . wﬁ/@_ﬂ by
—
Reta fagra # 20 o wen=E) 1 990 <9 Ayl @ Fl
(A) T 2iE HT ' TACH H YHRA gIN (B) wifeey Tafaq ' s1dfwme’ =) wafafy foh

(C) ek < el = wgrwEr o () ey wvaa @ g
92. Which of the following statements is not true ?
LAJ There was a decline in Samskaras in Vedic society
(B)  The spirit of 'Vasudhatva Kutumbakam' has been taught by Vedic culture
(C) The treatise Ramayan is smaller in size to Mahabharata
(D}  The elderlies are considered heads of families in Indian society.
P A A W e s d 2 4
.@/ afesw A ot eIkl — J' |
B) ‘uyde Ty H e Afcw depfa @ eq
(C) THMEY ARRA &1 alen oy 1y ¥
(D) vedTE Jurs A gl afem w1 gfe am s @

93. Which of the following is not a main cause of urbanisation ?

fA)  The decline of cottage industry (B) Rapi'd population growth
(@) Rlsmg prices (D) Lack of essential amenities. |
Wﬁ@mﬁwwaﬁvwmwaﬁ%’ |

.\yo/ FER FANN &1 g B < e i

() wedt HEME | (D) enavys gfauie o suE |

RUTTIT = @ - . o

Wt
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94.- Which of the following was contemporary to the l.iarrappan civilization ?

(A) Crete civilization (B) Egyplian civilization
(C) Greek civilization (19))] Roman civilization.
= H 8 = ﬁﬁmmﬂmaﬁwﬁﬂzﬁ ?

\(ﬂ{ THiZ |l : B 7w
() g wE (D)  TA e |

95. Which of the following statements is not true regarding the efforts made to improve
the status of women in Indian society ?
{A)  Vireshalingam Pantulu formed an organisation in support of Widow remarriage at
Madras Presidency . _
(B} Jawaharlal Nehru and Subhash Chandra Bose supported the demands and more
_ freedom to women - '
| /— (C) Pt. Ramabai made efflorts to improve.the condition of women in higher classes
I | \)> (D) Tarabai Shinde supported the orthodox beliefs regarding women by publishing
the book ‘Woman-Man Comparison’.
mﬁﬁﬂmﬁuﬁvﬂaﬁaﬁﬁuﬁrﬁgwaﬁﬁmﬁﬁnﬁm%wﬁﬁﬁmﬁﬁwvg“r
wed WEl & T 7
(A Wﬁfﬂ@@ﬁﬁaﬁbﬁmmﬁﬁw fdﬂ%#méﬂﬁ@wmm
(B) VETEETS Yew U gAY I S Y ufeensi & fAu sfw e ud i & e
~J2) - dfem e 7 S ofi w5t afgenst w6 gERn guis ) v T
(D) wwRErR fue F CE-gE e’ mﬁwmﬁmﬁ%ﬁﬁaﬁaﬁﬁaﬁaﬂ
BECERE I
96. “The employees earn salary while peasanis plough the kmg s land.” With reference to ‘
which ruler was this stalement made by the Chinese traveller ?

(A)  Harshavardhan (B} Chandragupta I

(C) Chandragupta Il ' (D) Samudiagupta.

“gTert i ¥ SfE fREE TS w gE Sad § " < Al w1 A FE RN s %
=y | FRr e ?

A wdadr | B) T I
) =E I (DY HYxME |
97. Which Chola ruler captured Kanchi defeatmg Pallavas ?
(A) Parantaka 1 : (B) Aditya I
(C) Vijagalaya : D) Rajendra Chola II.

fﬁmﬁﬁwﬁ-qeﬂaﬁﬁsuwmmﬁwwm?
\/ﬁ) T 1 | el
- famem o _ D WwmEEn

AHIRURT AR . [e02] -
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98. Which South Indian dynasty divided the State into Nation ( Rashtra ). Kottam and
Village ( Gram ) ? -

(A) Cholas (B) Pallavas

(C) Rashtrakutlas _ (D) Chalukyas.
faror wRa % TRg Tod Y T # U, Figw qan gm # frenfwa e 2
AV IS B) Heerd
,\@{' g . Oy FgFE _
99. During the rule of which dynasty did Kanheri University became popular ?
(A}  Rashtrakutas . (B) Cholas
(C) Chalukyas (D) Pallavas.
for ToEe % TET FR4 favafaee 9fes gen ? '
W e RV - B
() - =g ' (D) Heed |
100. In which state is Rampurva's Ashoka pillar with-Bull Capital located ?
(A) Bihar | (B)  Bengal
(C}] Assam (D) Uttar Pradesh.
qu&wmmmmmﬁ%? @
oy faER ® W
() erEm | | | D) I WY |
101. Which of the following saints propagated Sagun worship ?
(A)  Kabir {(B) Nanak
(C} Nimbarka ' (D)  Dadu.
03 B | T o 1 owERE ga :
o wER : _ B) AR
© frars o D) TR I

102. Which of the following statements regarding Mughal Art is not true ?
(A)  ‘lbrahim Roza'is in Bijapur _ | '
(B) Akbar got Fatehpur Sikri built after 1585 A.D.
(C) Akbar's lomb is in Sikandara |
(D} Shah Jahan got Takht-e-Taus built in Delhi.
e I Hem & AN H BT A I ¥ ?
@) SR ® ‘goETE TR
(B) awﬁuﬁgg{ﬁa?&msﬁo%mﬁﬁﬁ

O s ke fah # ?

(D) wEeE A foceh § 9 4SH SArn |

T ) -
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103. Maharana Pratap died at the age of

(A) 67 years : (B) 54 years

() b7 years ' (D) 49 years. _

HEO WelTd 6 o & 9oy o7 off )

W e7ad B 54w / M
M 7 (D) 49w )

104. The 30 per cent cotton cloth export of the iotal Indian expor{ around 1800 A.D. was
reduced in 1870 A.D. to

(A) 25 B) 13
) 8 (D) 3.
SE 1800%53111:1 qmﬂu?ﬁaf‘:mhﬁxgﬁwémm 30 @, St ISTOE’OHT:FW’@FGT{T
Ffqerm ® T ? ,
A 25 | B 13
c 8 _ D) 3.
105. In Modern Age, women too encouraged writings for awakening and social reforms.
They wrote several books. ‘Aamar Jiban' published in 1876 A.D. was written by
A Rashsundari Devi (B) Kailash Bashini Devi
(C) Roquaiyya Sakhawat (D) Pt. Ramabai. '
Theenal 3 oft SO U WA R ¥4 ST e H e w1 w1 o fem g e |
S & T fodl | 1876 $o F YeRIG T AAR SieE | 6 A &4

@) wgRd e A e sfget el
© TFT dwrEy (D) - dfean WEE |
106. The Constitution of India was adopted by
tA‘) Conslituentl Assembly (B)  Parliament
(©) Lok Sabha | D) RajyaSabha N
SR Hfau 1 s e T - @
\)@{ Hfaym @ g M) TR T '
) < | g (D) UST | G |
107. In which part of the Constitution of Indla does the term., Secular was added later on ?
(A} Fundamental Rights ' (B) Directive Principles of State Policy
(C) Pregmble (D) All of these.
iy PR T, T aTe # Sirer T, @ Seera wRdt wfaum & fRw am - faern g 2
@A Hifas sAfuwr d o m  ifa fweE T Ao
~igf T (s § O) FEHAWAA e

| o - "p;
DI | oz - T
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108. Which Article of Chlldrens Blll of Rights ( 1992} says “I have the right to know about

" my rights” ?
(A) . Article 42 - o (E3) Article 12._13
(Cy Article 23, 28, 29 D) Article 36.

ArcTehl % AfsR faa ( 1992 ) aﬂaﬂ-—rmajwquﬁchsm% “ag W sfuerl w9

AfqFER 87 2 |
~ay” SR 42 o . ®) 343?;331213"/@

(C) =92 23, 28, 29 _ (D) aﬂ%‘r; 36
109. Which of the following is not a funclamental right ?
(A} Right to Equality _ (B}  Right to Freedom
(C) Franchise S {D}  Right to Constitutional remedies.
T H | e s e 5] % ? S
(A) HHHAT 1 SRR _ (B) Ta=Aar &1 AlgsR .
(C) *EH = AR e, (DY SAAfE SR @1 SR |

110. In which Article of Part ‘IV a' of the Constitution have Fundamental Dulies been
incorporated ?

(A 51a : B 42

C) 50a : D) 52
tgrramﬁaq;ri%m%wm v %‘ﬁmaﬁzﬁw&ﬁ%7

bt G
©) 50 . (D)

111. Which of the following sta}_errie_nts is not correct regardmg the Election of the
Presidenti ?

(A}  The objections related to the election can be raised only in the Supreme Court
{B) The votes of all MLAs have equal values '
(C) The votes of all MPs have equal values
‘ (D) The nominated members cannot exercise their franchise.
T A | TE9e o as ¥
W%ﬁlﬁﬁaﬁﬁuﬁﬁaﬁmmwﬁﬁmm%
@ ot faues % 79 9 O e ¥
() wft wiER F A9 g e W €
DR weE e am o @ E
112. The 73rd Constitutional Amendment for making Panchayati Raj Inslitutions more
 effective and more powerful was passed in

[

& 1990 - B 1991

© o2 D) 1993,
Wwwﬁﬁuuﬁ@maﬂﬁ#m 73 9 Hfgur weleA foFg ad wifa gan 2
@A) 1990 - | 1991

© 1992 - (D) 1993

WIIIIIHH - . . [ P.T.0.
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113. What percentage of Women's reservation was availed of in the election of local bodies

in Rajasthan in August, 2010 ?
& 30 - (B)
(C) 50 (D)

33
10.

AT § 37, 2010ﬁ@wﬁuﬁm@¢wﬁuﬁwaﬁﬁmwwmmmww

ECIEI

X
vpei 50 : (D)

33
10.

114. The Head of Municipal Corporauon in Rajasthan is called

&) President (B} = Mayor
(C) Chairman (D)  Nagar Pramukh.
e § R B % wam #) e § )
(A) AW _ (B) TETUR
JoY. avafa D) TR |
115. The total number of members in Legislative Assembly of Rajasthan is
Ay 200 _ (B) 180 - ‘
(C) 160 (D) 210. / /)
T fawrTast ¥ $o geei 9 gem % ‘
(A} 200 _ {B) 180
iy 160 (D) 210.
116. In which ocean is ‘Mariana Trench’ located ?
A Indian Ocean (B) Pacific Ocean
(C) Atlantic Ocean (D) Arctic Ocean. -
foper TrRTARTE # * Aftarn T oo ¥ 2 | - G}
) e wemEE | @) v w7
{Q) . 3T HETEIR (D) IO ¥ W |
117. According to area which is the largest and smallest continents of the world ?
(A)  Africa and Australia (B}  Asia and Antarctica
(C) Aslaand Australia o (D) North America and Antarctma.
goToher & SMHN W fova @1 vl w91 o W Wi Herg ¢
(A)  ITHRIH U9 Agierd ©(B) e U@ TRTEReH
(€ iR e sl (D) 3T FEfE @ Q-‘zﬂ#ﬁiﬂ |
118. Which one of the following is not a sphere of the Earth ?
{A) Atmosphere - B Ozonosphere
(C) BfSsphere (D) Lithosphere.
ﬁmﬁ%@aﬁﬁaﬁ?quvﬁtmqﬁmﬂﬁ%? |
& FgEYEE (B) 3 AvEd @
(C) St #ueE (D) S HUEH | e

IR0 - 602

-t

1%
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119. Marble is an example of

(A)  Metamorphic rock - | (B} Sedimentary rock
(C©) Igneous rock | (D) Plutonic rock.
A wERE sgEE . - (B R W
© A sEE | D) wEIE wEE =
120. The combined action of weathering and erosion is known as
(A)  Decomposition (B) Hydration
(C)  Carbonation | (D)  Denudation.
Y& T TR Ft Y el Y wgd & |
W emEw | B el \
(C)  wEAYA ' : (D)  3FresEA |
121. Which one of the following is not a-metallic mineral ?
(A) Bauxite : (B) Copper
(C) Chromite ' / (D)  Mica.
frafafad 4 @ $9-w o uifes afe 1@ 8 2
@ afFEe | ® d.
(C) Wi . D) FYF |
122. Which pair is not correctly matched ? '
Type of Resource Example
(A) Non-renewable Resource . Natural Gas
(B) Natural Resource . Water
(C}  Btotic Resource ‘ — Forest
(D}  Ubiquitous Resource — Copper.
| fre § @ - o e T R 2
| AT W FETET
@) EtEviE EEE — rgfe i
(B) wiplas dqed — E|
(C) SadEnE — LE!
(D) oM AN — e |
123. The concept of sustainable development is related to
(A) maximum use of resources. . (B) conservation of resources
(G 4mdustrial use of rescurces ' (D) deveIOpfrlent of power resources.
T drofiE fasre =1 sTeumen w1 TRy 3 | _,
() FEH % sty v 9 (B) FEnE ¥ WEw R
(© e ¥ sieife swE @ ) oo HEe ¥ e R
e2] - . (710

ST-2



ST-2
124,

125.

126.

127.

128.

129,

94 W)
One of the main causes of wildlile loss is the
R\ loss of natural habitat (B) conslruction of dams
(C} flood (D) urbanisation.
g Sidl % FH T F1 UF Y@ HRT § :
() WEfTE FEE w A e B s
€ 9% : D) AR

In which one of the following regions of the world intensive subsistence agriculture is
most prevalent ?

(a) Temperate region : : (B) Mediterranean region

(C) Monsooen region (D) Semi-arid region.

fava ¥ frafafoe ¥ 9 fog w wu A e fafk iy sifvew w=fm 8 2

(A} RGO wReW ' ' (B) IR Yo - @
(C) AFEA wew | (D) ST AR |

Which landform is known as ‘roof of the world” ?

(A) Great Himalayas (B) Pamir Piatcau

{C) Tibetan Plateau : (D) Deccan Plateau.

S-a1 Yo7 ‘oz @ B3’ % W S S ¥ 2 @)7
() el femem - B) O R

(C) fasaa =1 4R : (D)  =f&or 6 9ER |

In which state of India ‘Kal Vaishakhi’ winds are usually prevaleht during summer
season ?

(A} West Bengal . (B) Assam
(C) Orissa . (D) Bihar.
W % fory v F 1 g  wmr CEe SenE’ e et € 2
(A) ufEw e | (B)  &EH
© g () feEmo
In which area of India is Yak animal found ? :
fA) Sundarban _ {B)  Arunachal Pradesh
(C}) Darjeeling (D) Ladakh.
ard & g &9 § 9 vy faeran © 2 :
@ g (B)  TEUEA YR
Q) awiifen (D) € |
Which one of the following places is having manufacturing unit of antibiotic medicine ?
(A) Hrishikesh | (B)]  Dehradun |
(C) Shimla (D) Chandigarh.
. FeafafEa § | 59 T e o ToeiamEiies <oneil #1 ITeE SHhE B 7
@) wfRY . ’ B  <EUgd
© fmem o O WA |

AR - [e02] -
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134.

130.

131.

132.

133.
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In which year was "Consumer Protection Act' introduced in India ?
@ 1982 . (B) 1986
) 1988 D 1991.
I H ¢ meﬁaﬂmma‘r‘uﬁm fope & @ foFa T 2 @
A) 1982 B 1986
{C). 1988 ' (I 1991.
Which one of the following statements is correct for the Aravali ranges ?
(A)  Helpful in rainfall - (B) Suitable for hydro-power producuon
(C) Act as a water-divide (D) A barrier in transportation.
frefefaa § ¥ $A- mwwmwﬁ Fforaf ¥ forw vt ¥ 2
a) @ul ¥ wETEw @) ¥ e Iewed & fau ITIH
(€ 7 fawre &1 %@ H@ 8 (D) trﬁama:faqsqaﬁw:
Which one of the following is a traditional method of rain-water harvesting in
Rajasthan ?
(A) Tank (B) Well
(C) River (D) Tanka.
frefafaa § 9 wE- W@Wﬁwwwﬁwﬁfﬁ% ?
Ay drerd : (B) el
() = ‘ (D)  EHI |
In which district of Rajasthan is Chhabra Thermal Power Station located ?
(A Kota | | (B) Baran |
() Jhalawar (D)  Sawat Madhopur.
W%mﬁaﬁwmmﬁm%? .
@ we B s @

(© wEEE o (D) |aE wuqe 1o
Which of the following pairs is not correctly matched ?

Industry Location

(A}  H.M.T. — Ajmer -
(B) Ball Bearing — Alwar
{C} Cement | — Morak

(D)  Electric meter ' Jajpur.
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135. The main mica producing districts of Rajasthan are

(A)  Ajmer, Bhilwara and Jaipur (B} Udaipur, Chittorgarh and Rajsamand
C} Bhilwara, Chitlorgarh and Kota (1) Jaipur, Dausa and Tonk.

Tore W wgE AyE saed fad & o
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136. For heritage conservation, in which year Monument, Archacological Site and Antiqulty
Act was implemented in Rajasthan ?

(A) 1961 B 1971

) 1947 ‘ D)  1952.

faqa F Geo ¥ T, Wwwmﬁﬂaﬁﬁuﬁwwﬁwa@@ﬂ ?
@ 1961 - ® 1971

(C). 1947 (D) 1952, \

137. What is ‘Balad’ ? _
{A} The tradition of Mand singing
: (f3) A herd of bulls, on whose back commodities for sale are carried by Binjaro
(C) A synonym of ‘Aulayn’ :
(D) The event of taking cattle to other land areas to explore the availability of food-
water in the wake of famine,
‘SR T ?
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138. Which of the following statements regarding the Rajasthan hero Manikyalal Verma is
not true ? '
(A) He was born at Bijolia
(B} He was a peasant in his early life
{9} He was connected with the Bijolia peasant movement for a long time
(D) He became the Prime Minister of Greater Rajasthan after independence.
TSI ¥ ST AforerEee au % R A e § @ BF-E A s ¥ 7
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139. In how many volumes is 'Vatan ri Phulwari' the invaluable literary hentage of Rajasthan
is divided into ? '

@ 8 (B) 10
© 12 - D 16.
TSTEH 1 3T Wfefds lied ‘Al O perarg)’ e wust § sues § 2
@ 8 | B 10
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140. In which district is the historical place "Mangarh' situated ?

(8}  Dungarpur ' - (B)  Pratapgarh
() Rajsamand - - (D) Banswara.
Qﬁ'ﬂﬁlﬂi A e T & fae foet § fem @ 2
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141. The study of Social Science is necessary for

(A) The understanding of the socio-cultural structure and its relation with
' environment '

{B) The development of infra-structure facilities

(C) The rapid economic development

(D) The understanding of educational problems. ¥
e faam s #t sevawm € | |
() wfSE- T e e 36 wiee § g ® gugE @ fag
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142. Which one of the following is the new concept in Social Science ?

{A)  Accumulation of factual information

(B) Study of social customs . :
(C}  The study of human relations-and betterment of society

(D)  The study of international relations.

Preafafam o & T fagm ¥ TR S S e
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143. What is a prime necesstty for a Social Sctence classroom ?

(A}  Site, formation and space {B)  Attached library and reading room
{C) Display | facilities . : (D) Facilities for experlments
whmﬁammmwaﬁmmmw%? | -
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144. The classroom processes in Soctal Science help in developing
(A) Knowledge . ' (B) Skill .
{C) Expression (D) All of these.
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Which is not a characteristic of a good evaluation ?
(A} Validity _ _ {(B)  Reliability _
(C} Diagnosticity - (D) Negativeness. -
I qeAEA F HHA- T T-!ﬁ ol A . | |
A v - B fyEwhaa
{0 T - (D) TEREHHA |
Field trips are useful in Social Science for the _ .
(A)] Ewvaluation - . {B) Empirical evidences
(4] Entertajnment D) all of these @
wife fam ¥ dofrg wao s ﬁ'm % |
& T E R | B araﬂfaaﬁ W & m /
€ wits ¥ fera D) wTHIAWH
Which type of teaching aids are most useful in Social Science ?
(A) Models {B) Museum
(C) Audio-visual aids - - (D) Drawing’equipment.
mﬁwﬁa&ﬁmmaﬁhmmmmﬁ?ﬂ%7 |
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The main problem of Social Science teaching is

(A)  small classrooms (B) increasing teacher-student ratio

(C) untrained teachers : (D} - lack of library facilities.

&) BR FHE-FH | B Funs-un ek ¥ i @
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Which one of the following project types has been suggested by Thomas M. Rlsk for -
secondary schools ?

(A)  Social projects - - (B) Economic projects

(C) Productive projects ) - (D) Environmental projects.

ﬁ%ﬁﬁ@ﬁ—m@mmm afre THo fer 7 mreafies faener & o whrwfaa
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Which one of the following is the main objective of evaluation in Social Science ? =
(A}  Assessment of the knowledge of the students :

(B}  Better classroom teaching

(C) Educational planning

(D}  Social development.
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Section |1 (Langugge 1) a candidate has to attempt the questions of the language which the candidate has selected as
“Language [ in the Online Application Form. ! : . :
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In Section iII {Lansua_ge IIi a candidate has to attempt the questibns of the language which the candidate has selected as
Language i in the Unline Application Form. The Language 1T wiil be different fro Language I, .
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